CHEMISTRY 130 BL QUIZ 1 (Aldol Reaction/Diels-Alder)
Fall 1998 (10-12-98)

Fill out the following information completely or you will loose 5 points. Please
indicate who your TA is or in which section you are. It would be also nice if you
could write legible. You have 10 minutes to complete the quiz. Good luck.

First letter of your last name:
Full Name:

UCLA LD.#:
SectionTA: Zhe  Joe  Thuc @

1. Aldol Reaction

a) Why did you have o yse in the Aldol reaction? Explain briefly. (2 points)
Thepunceoﬁuﬁfg detsnstallowyou to forman enolade,
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Emdodet HyO—> €t +OH®
b) Which color does the final product have? What is the melting point (+/- 5 C)? (2 points)
color: Pu?b_ (Q}eb.&,) Melting point: Q{g 'lzoot
e) What drive the reaction towards the formation of the Tetrapheylcyclopentadienone? (3 points)
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2) Diels-Alder Reaction

a) Why do you use 1,2-dimethoxyethane and not diethyl ether as solvent? Explain briefly.
(3 points)

Tht veo.chemn irsebeops deitan, (feomation Higgur
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b) How many signals in the 13C-NMR $pectrum do you expect for 1,2,3,4-Tetraphenyl-
naphthalene? How many for 1,4,5,8-Tetraphenylnap!1thalene? (2 points)
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¢) What is the most important change in the IR spectrum,'when you go from Tetraphenylcyclo-
pentadienone and anthranilic acid to 1,2,3,4-Tetraphenylnaphthalene? (mode + appr.
wavenumber) (2 point).
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2. Predict the preducts of the following reactions (12 points),

HO

NaOE .

CC +  CH,CH,COCH,CH, —OF o @O S 0O/
HO

HO HCI ¥
+ CHiCOCH,CH; ————% :C--C—C.l-\3 7107.

OCA '

COOMe
) — gﬂm
COOMe
" COoMe

OOQ o ——»



